
Features: 

ATD-7440A
2-Ton Heavy-Duty Tripod Stand

Owner’s Manual

Specifications:



SAFETY and GENERAL INFORMATION
Save these instructions. 

’

Inspect before each use. )
b

’

PRODUCT DESCRIPTION
stabilize not

properly secured lift

NOT should not
4000 lbs

           NEVER use high reach supplementary stand to support a vehicle! Use a pair to prevent vehicle 
           tipping or rocking while vehicle is on an automotive lift.

! WARNING

Do not 
under a properly secured 

automotive lift

!

BEFORE USE 

V
b

Before launams'renwoehtdaer
and familiarize yourself thoroughly

stabilize, NOT SUPPORT

SPECIFICATIONS

W



OPERATION 
           Use only on areas of the vehicle 
        by the vehicle manufacturer. Use ONLY on 
vehicles whose contact points are compatible with the 
saddles of these stands. Incompatibility may result in 
structural damage to the vehicle and/or stand. Structural 
damage to either may result in sudden and unexpected 
loss of load height!

To Raise Saddle
R

stabilize, NOT 
SUPPORT

Special skills and knowledge pertaining to 
    working on, under, and around a vehicle on 

an automotive lift is  before attempting to 
position/use this device.

To Lower Saddle
           Be sure all tools and personnel are clear 
        before lowering load.

ASSEMBLY

W

!

!

!

MAINTENANCE 

REPLACEMENT PARTS 

 Do not tighten bolts at this time.



ITEM# ORDERING PART# DESCRIPTION QTY ITEM# ORDERING PART# DESCRIPTION QTY
01 PRT7440A-01 SADDLE PAD 1 12 PRT7440A-12 EXTENSION SCREW 1
02 13 PRT7440A-13 UPPER LINK 3
03 14 PRT7440A-14 LEG 3
04 PRT7440A-04 HEIGHT ADJUSTMENT HANDLE 1 15 PRT7440A-15 LOWER LINK 3
05 PRT7440A-05 BEARING 1 16 * WASHER, M10 6
06 PRT7440A-06 COLUMN TUBE 1 17 * BOLT, M8 x 12 12
07 * LOCK PIN 1 18 * NUT, M8 3
08 * BOLT, M10 x 25 6 19 * WASHER, M8 3
09 * NUT, M10 6 20 * BOLT, M8 x 16 3
10 PRT7440A-10 UPPER PLATE 1 21 PRT7440A-21 SHORT LINK 3
11 PRT7440A-11 LOWER PLATE 1 * PRT7440A-HK HARDWARE KIT -

PRT7440A-02 SADDLE & PIN

* - HARDWARE KIT CONTAINS ITEM#'s 07, 08, 09, 16, 17, 18, 19, & 20

1



WARRANTY
 1 YEAR LIMITED WARRANTY  

 
 

   
 

THIS WARRANTY AND CONFIRMED RECEIPT(S) SHOULD BE RETAINED BY THE CUSTOMER AT ALL TIMES     

 
  

 
   

 
  

 

 

 

  
 
 
 
 
 
 
 
 
 
 
 

 


